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1.    What is Trip generations and Trip attractions? Also explain factors influencing    

  Trip Generation and Attraction. 

 [10] CO3    L2 

2. 2   Explain Multiple linear regression analysis and its two types  [10] CO3    L2 

3. 3   Write a note on a) Gravity model & b) Opportunity model  [10] CO2 L2 

4. 4   A study area consists of three zones. The data have been determined as shown in   

  the following tables. Assume a Kij =1.  

 Data: 

a) Zone Productions and Attractions        b) Travel Time between zones (min) 

 
      c) Travel Time versus Friction Factor 

Time (Min) 82 52 50 41 39 26 20 12 

F 1 2 3 4 5 6 7 8 
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5.   A self-contained town consists of three residential areas A, B, C and two industrial  

estates X and Y. Trip generation equation shows that for a design year in question, 

the trips from home to work generated by each residential area per day are as 

follows: 
A 1000 

B 2250 

C 1750 

   There are 3500 jobs in industrial estate X and 4300 in industrial estate Y. It is 

known that the attraction between zones is inversely proportional to the square of 

journey times between zones. The journey times in minutes from home to work 

are given below. 
Zone X Y 
A 15 20 
B 15 10 
C 10    10 

 

Calculate and tabulate the inter-zonal trips for journeys from home to work. 

  

 [10] CO4 L3 

6.  Define modal spilt and explain in brief the factors affecting modal split.   [10] CO2 L2 
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1. Trip generation is defined as all the trips of home based or as the origin of the non home 

based trips. An attraction is the non-home end of a home based trip and is the destination 

of a trip with neither end home based. 

 

 
Factors influencing Trip Generation and Attraction 

 
1. Income 

Family income which represents its ability to pay for a journey affects the number of trips 

generated by a household. A general trend is that the higher the income the higher is the trip 

generation rate. 

 

2. Car ownership 
A car represents easy mobility, and hence a car owing household will generate more trips than 

a non-car-owing household. By the same reasoning, the more cars there are in the household, 

the more the number of trips generated. Of course, number of cars owned is itself related to the 

income of the family, which has been listed earlier as a factor. 

 

3. Family size and composition 
The bigger the family, the more trips there are likely to be generated. Apart from the size, the 

composition of the family itself is important. For instance, if both the husband and wife are 

employed, the trips generated will be more than when only the husband is employed. If there 

are many school-going children, the number of school-purpose trips will be large. The age 

structure of the family also governs the trip rates. Old persons are not expected to generate as 

many trips as younger ones 

 

4. Land use Characteristics 
Different land uses produce different trip rates. For example, a residential area with a high 

density of dwellings can produce more trips than one with a low density of dwellings. On the 

other hand, low density areas may represent dwellings of the well-off society, which may 

produce a large number of private car trips. The rateables value of the dwelling and type of 

dwelling units affect the trip generation rates. The most important assumption made in 

transportation planning is that the amount of travel is dependent on land use. 

 

5. Distance of the zone from the town center 
The distance of the zone from the town center is an important determinant of the amount of 

travel that people might like to make to the town center. The farther the town center, the less 

the number of trips are likely to be. 

 



6. Accessibility to public transport system and its efficiency 
The accessibility to a public transport system and its efficiency determine to some extent the 

desire of persons to make trips. An easily accessible and efficient public transport system 

generates more trips. 

 

7. Employment opportunities, floor space in the industrial and shopping units and offices 
The employment potentially of an industrial or shopping unit or an office establishment directly 

governs the trip attraction rate. Similarly, another factor to which the trip attraction rate can be 

related is the floor space in the premises of industries, shops and offices. 

2.  

 

 

 
Y= average trips per occupied dwelling unit  

A= car ownership  

H=household size  

X1= social rank index 

 X2= urbanization index 
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